Date:- 9 September 2020 Shift:- 1(Morning)
Timing:- 08:00 AM to 10:30 AM Paper:- I (Hindi 101)
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Cognitive objectives are related to -

a. Skill b. Heart c. Brain d. Hands
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Teaching learning material?
a. It makes the teaching process intresting and easy.

b. An easy way to keep children busy when there is no teacher in
the classroom.

c. Its role in the language classroom is not important.

d. Expensive and durable teaching learning materials are
considered superior.
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‘Rise, Wake up and do not stop until the goal is achieved.” Whose
statement 1s this?

a. Dr. Radhakrishnan b. Mahatma Gandhi
c. Tagore d. Swami Vivekanand
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The most challenging task for a teacher is -

a. Keeping students sitting in the classroom.

b. To give homework.

c. To make the teaching learning process interesting.

d. To prepare question paper.
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Education Psychology is a science of

a. Educational Planning.  b. Educational Principles.
¢. human behavior d. None of these.
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An environment is conducive for children’s learning, where -
a. family discipline is strict.

b. freedom to Play and Sing.

¢. his language, pre experience and feelings are respected.

d. the priority of text book.
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Shaping yourself according to the environment is -

a. adaptation  b. adjustment c. assimilation d. Imitation
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Which option is false in the context of ‘learning’?

a. Learning is the change in behaviour.

b. The change in behavior occurs as a function of practice or
experience, |

c. There is a relatively permanent change in behavior in learning

d. None of these.
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‘RMSA’ means

a. Rashtriya Madhyamik Soochna evam Anusandhan
b. Rashtriya Uchcha Madhyamik Shiksha Abhiyan

c. Rashtriya Madhyamik Shiksha Abhiyan

d. Rajya Madhyamik Shiksha Abhiyan
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‘CCE’ means
a. Cluster center for Evaluation
b. Curriculum and Evaluation Council

¢. Continuous and Comprehensive Evaluation

d. All of these
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Which option is False in refrence to Bloom’s taxonomy?

a. It deals with the classification of ‘learning objectives’ within
education

b. It was published in 1966 AD.

c. It contributes to children’s mental development

d. It was named after Benjamin Bloom, the education psychologist
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Education does not include the following resources?
a. Ground-water resources b. Financial resources

¢. Human resources d. Material resources
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Which option is true in the context of National Achievment survey ?

a. There is an online assessment portal of secondary level children in
the country.

b. There is a national program by the MHRD to ascertain the level
of education in school.

c. There is a program related to NTS and Medha Scholarship.

d. All of these options are true.
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National Education day is celebrated in whose memory?

a. Zakir Hussain b. Dr. Radha Krishnan
¢. Swami Vivekanand d. Maulana Abul Kalam Azad
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When did the operation Blackboard program begin?
a.1986  b.1987 ¢. 1992  d.1996
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Which of the following is not in the twenty indicators of ‘Samjhen
Sikhen’ program ?

a. School starts and close on time.
b. Full time teacher specifically prescribed for class one.
c. Only written assessment of children.

d. Sports, Arts and Cultural activities in the last period.
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The article titled “Mera Vidyalaya’ has been written by Raju. The
article is meaningful but also has grammatical inaccuracies which
comment would be appropriate for Raju?

a. Your grammatical knowledge is bery weak.
b. Be sure to get spelling knowledge before writing an article.
¢. Your handwriting is dirty and full of inaccuracy.

d. You have written an essay well. At some place there are
grammatical errors which need to be corrected by practice.
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The author of ‘Pedagogy of the oppressed’

a. Frederick Froebel b. Francis Bacon

c. Paulo Freire d. Madan Mohan Malviya
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‘Shikshak Sathi’ is
a. Learning facilitation manual
b. Teacher facilitation manual
c. Non governmental platform to solve the problems of teachers

d. Educational Journal published by Bihar Education Project
Council, Patna.
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Which part of Indian Constitution allows every citizen to impart
education as per ones own religion?

a. Concurrent list of centre and the states.
b. Fundamental Rights
¢. State list



d. None of these
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Which one of the following is not an active agency of socialization?

a. Family b. School
¢. Railway station  d. Religious Institution
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Which of the following is not included in the fundamenta] method of
evaluation ?

a. Individual assessment b. Collective assessment
c. Peer assessment d. Assessment by teachers
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Which of the following is the wrong option referred to in’why children
should be assessed?’

a. Recognizing the personal and special needs of children.
b. Improve the process of teaching-learning in the classroom.

c. Identifying eligible children to provide incentive money to

children
d. Eliminate the fear of assessment in children and encourage self
assessment.
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has an important role in the personality building of a child.

a. Mother tongue b. Foregin language
c. Academic language d. Standard language
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In Vygotsky’s theory, which aspect of development gets neglected?

a. Social b. Biological  ¢. Linguistic ~ d. Cultural
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If the sum of two numbers is 14 and their difference is 10, find the
product of these two numbers.,

a. 18 b, 22 c.24 d. 20
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The sum of all those prime numbers which are less than 3 1, is-

a. 129 b. 132 c. 137 d. 119
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Which of the following number is exactly divisible by 247
a. 3125736 b. 35718 c. 537804 d. 63810
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The product of any three consecutive natural numbers is always
divisible by

a. 15 b. 9 c.6 d. 3
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The fourth proportional to 5, 8, 15 is -
a. 20 b. 36 c. 18 d. 24
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‘60 % of 264 is the same as -

a. 30% of 520 b. 48% of 360
c. 15 % of 1056 d. None of these
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A man walks 24 meters east and then walks 10 meters north. How far
is he from his starting place?

a. 26 meters b. 34 meters ¢. 14 meters d. 54 meters
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A man buys a cycle for rupees 1400 and sells it at a loss of 15%. What
is the selling price of the cycle?

a. 1202 rupees b. 1160 rupees c. 1000 rupees d. 1190 rupees
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Find the average of first 40 natural numbers.

a.21.50 b. 20.50 c.23.75 d. 28.60
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An athelete completes 200 meter race in 24 seconds, his speed in
kilometer per hour is?

a. 20 b. 30 c.24 d.28.5
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A and B together can complete a piece of work in 15 days and B alone
is 20 days. In how many days can A alone complete the work?

a. 30 days  b. 45 days c. 60 days d. None of these
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The length of rectangle is 2 cm more than its breadth. It the perimeter
is 48 c¢m, then area is -

a. 96 cm? b. 128 cm? c. 143 cm? d. 144 cm?
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What percent of a day in 3 hour?
a.14%% b.16 %5 % c. 18% % d. None of these
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How many surfaces are three in a cube?

a.6 b. 8 c.4 d. 10
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At what rate of interest of rupees 4500 per annum will be 5715 rupees
in 3 years?

a. 12% b. 9% c. 5% d. 13%
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Which of the following letter group is odd?
a. ANBP b. CPEQ c. FSGT d. IVIW
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(The membership of three associations is demonstrated by the diagram
below. In which part are all the members of the three associations?)

1

a. 6 b. 4 c. 7 d. 3
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If ‘CAT’ is written 3120 in a code language, how will ‘NAVIN’ be
written in that code language?

a. 14122014 b. 14201214  c¢. 14142012 d. 14122914
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Ram’s number in a row is fifth from either side, then how many
persons are there in the row?

a. 10 b. 7 c. 8 d. 9
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How many triangles are there in the figure given below?

a. 11 b. 12 c. 13 d. 14
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Complete the series by filling the appropriate number.
3,1,4,2,5,4,6, ...........
a. 5 b. 6 c.7 d. 9
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Complete the series by filling the appropriate number.
; 90 ” 7
a. 20 b.6 c. 13 d. 9
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If south-west becomes north, what will north-west become?

a. North b. South c. East d. West
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The relation of “thought’ to ‘Brain’ js related to that of “cloud’ to 2.

a. Literature b. Sky ¢. Fiction d. Water
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Complete the series by filling in the blanks.

9 ' 3 162
11 6 174
8 13 ?
a. 246 b. 248 c. 254 d. 236
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Bihar School Examination Board, Patna

ety Rrere uEar g fen (STET), 2019 &Y g e

Subject Code:- 101 PAPER- I Subject:- HINDI
Date of Exam:-09/09/2020 Timing:~ 8,00-10.30 A.M. Sitting: 1 Morning
Q.No/| Ans. Q.No. Ans. |Q.No.| Ans. |Q.No.| Ans. Q.No.| Ans.
1 C 31 c 61 D 91 C 121 A
2 A 32 A 62 b 92 D 122 B
3 D 33 D 63 B 93 B 123 C
4 C 34 B 64 C 94 B 124 D
5 C 35 B 65 B 95 D 125 C
6 B 36 C 66 A 96 C 126 A
7 A 37 C 67 C 97 A 127 C
g D 38 D 68 D 98 B 128 D
9 C 39 A 69 B 99 C 129 B
10 C 40 B 70 A 100 D 130 C
11 B 4] A 71 D 101 B 131 B
12 A 42 C 72 C 102 B 132 A
13 B 43 D 73 D 103 A 133 C
14 D 44 D 74 B 104 A 134 D
15 A 45 B 75 B 105 C 135 B
16 C 46 C 76 A 106 C 136 A
17 D 47 C 77 C 107 B 137 C
18 C 48 B 78 C 108 D 138 D
19 A 40 D 79 D 109 C 136 C
20 B 50 C 30 B 110 A 140 B
21 C 51 C 81 A 111 D 141 A
22 D 52 B 82 C 112 B 142 D
23 C 53 A 83 B 113 B 143 A
24 A 54 D 84 A 114 A 144 C
25 B 55 D 85 D 115 D 145 C
26 C 56 A 86 D 116 D 146 B
27 A 57 C 87 C 117 C 147 B
28 A 58 A 88 A 118 B 148 | A&D
29 C 59 C 89 A 119 A 149 A
30 D 60 A 90 B 120 D 150 D









